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WA 52.7 ERE 51.7 1,404 432 324 0] A LL
IZALA 23.2 = I 6.5 - 1,296 — 0] A L
ZIES5 2.5 BRE 2.1 — 4320 — 0] A 2M
ZIES5 5 & 0.4 — 5,724 — 10 vay M
jiyg 0.2
[E<E0LY 26.8 BERE 25.7 864 540 432 15 A 6
HTE 1.8 ERE 0.6 - 540 — 4l A M
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_hE 1.6 = B 1.3 — 1,944 — 3 M
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125 2.0 =l 0.9 2,160 — 1,890 5] A M
+)L)— 1.1 2 [ 0.6 3,780 3,456 3,240 0] A LL
FRINGHR 0.5 BRE - 140 — 0.1 M
Hh)o257— 1.0 BE X 0.8 864 — 756 6] A 6
JOyal)— 30.8 BRE 8.5 2,430 — 2,246 6] A
LARR 37.0 E & 23.9 972 702 648 10 12
FoTHA 1.4 BRE 1.0 — 1,296 — 4f A L
=Y 18.9 BRE 13.1 1,728 864 756 5/ A L
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ANESSES) 1.3 - 0.8 2,916 — 1,674 0] A 6
ANESSES) BRE 0.4 2,700 2,700 2,592 0] A 6
He 4.6 B X 4.2 - 1,458 — 4l A L
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ES5HACL 0.2 BRE 0.2 3,629 3,110 3,110 5/ A LL
T35 0.2 BRE 0.2 130 - 124 0.1 A M
[2H5Y 1.3 BRE 1.3 1,836 1,512 1512 3l A M
SPVAITFA 1.0 BRE 1.0 — 1,296 — 2l A
SPZAES 0.6 X & 0.4 1,620 1,188 1,188 1 A L
E—X 0.2 BRE 0.2 — 2376 — 2l A
ZTHEDH 0.4 BRE 0.4 1,404 1,296 864 1
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f=FhE 6.9 dtiEE 2.3 - — — PR
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A1z 0.6 "5 & 0.4 - 1,620 - 1 A L
5oELD 1.2 BRE 1.2 6,480 - 5,940 0] A M
ELLV=T 1.2 BRE 0.1 — 119 — 01 M L
HELLV=IT =l 0.7 97 86 76 0.1 A L
ZDEET 25 E X 0.3 - 27 - 0.1 A
LHL 1.3 2 [ 1.3 97 81 78 0.2
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LEY 0.7 TA)H 0.7 7,668 7,344 6,480 17 115
INLUVT 55 TA)H 55 - 3,888 — 15 6
L7y 0.2 TA)H 0.2 6,264 — 5,184 15 48
YATE 15.4
eI 2.9 5 2.9 5,184 4536 4428 10] vay
AL 9.5 5 & 9.5 4860 4,104 3,672 10[ 7h¥a 46
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7—ILA 1.2 BRE 1.0 — 7,560 — 8l 7#4A LL
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